| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

1%} F (%] [%]
x . x B4
[*} o [}
g g 8
F10°F ot s
E = 5]
E E S
3 =
10°F 10°F 3
10°F 10°F
lOzg— 1022—
10F 10f- -5 -4 sdeenieed
o+ o+ TR A1) : -- RRATE 2
T e = ey 1 3 ) N Eli T 1
@ x T B -rphetiti f o
0. o = H:‘F - 2 P S L[ L 09
o.6f-- toegelE T -i- ST g } :..---:l - ollltfl ) i or b
0 2 4 6 8 1012 14 16 18 20 0 2 4 6 8 1012 14 16 18 20 0 2 4 6 8 1012 141() 1823 0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?

Tt

[N of reco track vs,si ju—— gél I:ﬁEEIi ##Ulﬂl HBga

berset




	Contents
	Page 1


